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Dividing Whole Numbers Name:
Solve each problem. Answers
1) 38+6= 2) 25-7=
1.
2.
3.
3) 52+2= 4) 64+2 = 4.
5.
6.
7.
5 37+4= 6) 96+2=
8.
9.
10.
7) 32+5= 8) 74+2= .
12.
9 76+8= 10) 88+2=
11) 62+2= 12) 31+3=
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ﬂh Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 38+6= 612 2)
3 52+2= 26 4)
5 37+4= 9r1 6)
7) 32:5=_ 612 8)
9 76+8= 9r4 10)
1) 2= 31 12)

25+7= 314
64+2=_ 32
9%+2= 48
74:2= 37
88+2=_ 44
31+3= 10rl

Answers
1 6r2
2 3r4
3. 26
4. 32
5. orl
6 48
7 612
8 37
9. 9r4
10 44
11. 31
12 10rl
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